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Sr Questions Answers Choice

1 Which method of Address Resolution Protocol resolution with minimum delay? Were "T"
stands for Table lookup, "C" for Closed-form Computation and "D" for Data Exchange?

A. T, D
B. c
C. T
D. T, C

2 Which method of Address Resolution Protocol requires hardware broadcast? Were "T"
stands for Table lookup, "C" for Closed-form Computation and "D" for Data Exchange?

A. D
B. T
C. T, D

3
In which method of Address Resolution Protocol the protocol address is determined by
hardware address? Were "T" stands for Table lookup, "C" for Closed-form Computation and
"D" for Data Exchange?

A. T
B. D
C. C
D. T, C

4 Find the class of the address: 11110011 10011011 11111011 00001111
A. A
B. B
C. E
D. C

5 Find the class of the address. 10100111 11011011 10001011 01101111
A. A
B. B
C. E
D. C

6 The term self-identifying is used for Classful IP addresses because the class of the address
can be computed from the address__________.

A. itself
B. prefix
C. suffix
D. mask

7 A single networking technology is best for all needs.
A. True
B. False
C. Not Sure

8 These packets serve same purpose on ________ as frames on ______
A. Intranet, LAN
B. Internet, WAN
C. Internet, WAN
D. Internet, LAN

9 Protocol addresses are abstractions provided by ___________.
A. hardware
B. software
C. operating system​
D. internet

10 _______ protocols of TCP/IP layering model specify how to ensure reliable transfer.
A. Physical Layer
B. Network Interface Layer
C. Internet Layer
D. Transport Layer


